

# THE ASYMPTOTIC BEHAVIOR OF A HIGHER ORDER DELAY NONLINEAR DIFFERENCE EQUATIONS<sup>‡</sup>

WAN-TONG LI, HONG-RUI SUN AND XING-XUE YAN<sup>\*</sup>

*Department of Mathematics, Lanzhou University, Lanzhou, Gansu 730000,  
People's Republic of China,  
e-mail: wli@lzu.edu.cn*

(Received 4 December 2001; after final revision 5 July 2002; accepted 24 February 2003)

In this paper, the asymptotic behavior of solutions of the equation of the form

$$x_{n+1} = \frac{\beta x_n^2}{1 + x_{n-k}^2}, n = 0, 1, \dots$$

is studied under the hypothesis that  $\beta$  is a positive constant and the initial conditions  $x_{-k}, \dots, x_{-1}$ , and  $x_0$  are arbitrary positive numbers.

**Key Words :** Recursive Sequence; Monotonic Convergence; Global Asymptotic Stability; Local Asymptotic Stability

## 1. INTRODUCTION

In this paper we study the asymptotic behavior of delay nonlinear difference equation of the form

$$x_{n+1} = \frac{\beta x_n^2}{1 + x_{n-k}^2}, n = 0, 1, \dots, \quad \dots (1)$$

where  $\beta \in (0, \infty)$  and the initial conditions  $x_{-k}, \dots, x_{-1}$  and  $x_0$  are arbitrary positive numbers.

If  $a_{-k}, \dots, a_{-1}, a_0 \in (0, \infty)$ , are given, then eq. (1) has a unique solution  $\{x_n\}$  satisfying the initial conditions

$$x_{-j} = a_{-j} \text{ for } j = 0, 1, \dots, k.$$

Clearly

$$x_n > 0 \text{ for } n \geq 0.$$

In this paper we will only investigate solutions of eq. (1) which are positive for  $n \geq 0$ . Such solutions will also be called positive solutions. For the general theory difference equations, one can refer to the monographs of Agarwal<sup>1</sup> and Kocic and Ladas<sup>2</sup>.

<sup>‡</sup>Supported by the NNSF of China (10171040), the NSF of Gansu Province of China (ZS011-A25-007-Z), the Foundation for University Key Teacher by Ministry of Education of China, and the Teaching and Research Award Program for Outstanding Young Teachers in Higher Education Institutions of Ministry of Education of China.

<sup>\*</sup>From Department of Mathematics, Hexi University, Zhangye, Gansu 734000, P. R. China.

In 1993, Kocic and Ladas<sup>2</sup> studied the asymptotic behavior of eq. (1) with  $k = 1$ , and proposed an Open Problem [2, p. 159]

*Open Problem* — Investigate the global asymptotic ability of the rational recursive sequence

$$x_{n+1} = \frac{\beta x_n^2}{1 + x_{n-1}}, n = 0, 1, \dots, \quad \dots (2)$$

where  $\beta \in (0, \infty)$  and the initial values  $x_{-1}$  and  $x_0$  are arbitrary positive numbers.

Recently, Camouzis, Ladas, Rodrigues and Northshield<sup>3</sup> and Zhang, Shi and Gai<sup>4</sup> studied the problem and gave sufficient conditions for stability and instability of positive solutions of eq. (2). But for  $k > 1$ , we can not find any results on the asymptotic behaviour of positive solutions of eq. (1).

Motivated by the above Open Problem, in this paper, we consider the asymptotic behaviour of eq. (1). The results that we obtained here, include the characterization of behaviour near the origin as well as conditions implying instability and other types of asymptotic behaviour, and extend the results of Camouzis, Ladas, Rodrigues and Northshield<sup>3</sup> and Zhang, Shi and Gai<sup>4</sup> for  $k = 1$ .

For the sake of convenience, we list the following definitions.

*Definition 1.1 (Stability)* — The equilibrium point  $\bar{x}$  of eq. (1) is called locally stable if for every  $\varepsilon > 0$ , there exists  $\delta > 0$  such that  $|x_{-j} - \bar{x}| < \delta$  ( $j = 0, 1, \dots, k$ ) implies  $|x_n - \bar{x}| < \varepsilon$  for all  $n \geq 0$ . Otherwise,  $\bar{x}$  is said to be unstable.

The equilibrium point  $\bar{x}$  of eq. (1) is called locally asymptotic stable if it is locally stable and there exists  $\gamma > 0$  such that  $|x_{-j} - \bar{x}| < \gamma$  ( $j = 0, 1, \dots, k$ ) implies  $\lim_{n \rightarrow \infty} |x_n - \bar{x}| = 0$ .

The equilibrium point  $\bar{x}$  of eq. (1) is called a global attractor if  $\lim_{n \rightarrow \infty} x_n = \bar{x}$  for all  $x_{-k}, \dots, x_{-1}, x_0 \in (0, \infty)$ .

The equilibrium point  $\bar{x}$  of eq. (1) is called globally asymptotically stable if  $\bar{x}$  is locally asymptotically stable and a global attractor.

## 2. SEVERAL LEMMAS

In this section we will list several lemmas which are important for proving our main results.

*Lemma 2.1* — Assume that  $0 < \beta < 2$ , then eq. (1) has a unique non-negative equilibrium zero.

*Lemma 2.2* — Assume that  $\beta > 2$ , then eq. (1) has three non-negative equilibria, namely,

$$\bar{x}_1 = 0, \quad \bar{x}_2 = \frac{\beta - \sqrt{\beta^2 - 4}}{2} \quad \text{and} \quad \bar{x}_3 = \frac{\beta + \sqrt{\beta^2 - 4}}{2},$$

where  $\frac{1}{\beta} < \bar{x}_2 < 1$  and  $1 < \bar{x}_3 < \beta$ .

*Lemma 2.3* — Assume that  $\beta = 2$ , then eq.(1) has two non-negative equilibria, namely,

$$\bar{x}_1 = 0 \quad \text{and} \quad \bar{x}_2 = 1.$$

*Lemma 2.4* — Assume that  $\beta \in (0, \infty)$ , and that

$$(k + 1)^{k+1} > (2k)^k. \quad \dots (3)$$

Then every solution of eq. (1) is bounded from above by a positive constant. As the proof of this lemma is similar to that of Theorem 2.1 [5] or Theorem 4.1 [6], we omit it here.

### 3. THE CASE $0 < \beta < 2$

From Lemma 2.1 we know that eq. (1) has a unique non-negative equilibrium  $\bar{x} = 0$ . The linearized equation about zero equilibrium is

$$y_{n+1} = 0,$$

and so it is locally asymptotically stable. Now we prove that  $\bar{x} = 0$  is also globally asymptotically stable.

*Theorem 3.1* — Assume that  $0 < \beta < 2$  and that (3) holds, Let  $\{x_n\}$  be a solution of eq. (1).

Then

$$\lim_{n \rightarrow \infty} x_n = 0. \quad \dots (4)$$

**PROOF :** Let  $\{x_n\}$  be a positive solution of eq. (1) with initial conditions  $x_{-k}, \dots, x_{-1}, x_0 \in (0, \infty)$ . By using successive iteration, we see that for  $n \geq 0$ ,

$$\begin{aligned} x_{n+1} &= \frac{\beta x_n}{1 + x_{n-k}^2} x_n \\ &= \frac{\beta^2 x_n x_{n-1}}{(1 + x_{n-k}^2)(1 + x_{n-k-1}^2)} x_{n-1} \\ &= \dots \\ &= \frac{\beta^{n+1} x_n x_{n-1} \dots x_1 x_0^2}{(1 + x_{n-k}^2)(1 + x_{n-k-1}^2) \dots (1 + x_{-k}^2)} \end{aligned}$$

In view of  $a^2 + b^2 \geq 2ab$  for  $a > 0$  and  $b > 0$ , we have

$$x_{n+1} \leq \frac{\beta^{n+1} x_n x_{n-1} \dots x_1 x_0^2}{2^{n+1} x_{n-k} x_{n-k-1} \dots x_{-k}}$$

Set 
$$h_n = \frac{x_n x_{n-1} \dots x_1 x_0^2}{x_{n-k} x_{n-k-1} \dots x_{-k}}$$

then 
$$x_{n+1} \leq \left(\frac{\beta}{2}\right)^{n+1} h_n, n \geq 0.$$

According to Lemma 2.4, all solutions of eq. (1) are bounded. Then

$$h_n = \frac{x_n x_{n-1} \cdots x_1 x_0^2}{x_{n-k} x_{n-k-1} \cdots x_{-k}} < M,$$

where  $M$  is a positive constant. Thus, we have

$$0 < x_{n+1} \leq \left(\frac{\beta}{2}\right)^{n+1} M, n \geq 0.$$

Therefore, we obtain  $\lim_{n \rightarrow \infty} x_n = 0$ . This completes the proof.

#### 4. THE CASE $\beta = 2$

If  $\beta = 2$ , then, by Lemma 2.3, eq. (1) has two equilibria, namely,

$$\bar{x}_1 = 0 \text{ and } \bar{x}_2 = 1.$$

As in the previous cases  $\bar{x}_1 = 0$  is locally asymptotic stable. In fact, we also prove that  $\bar{x}_1 = 0$  is asymptotically stable and attract every trajectory of eq. (1) with initial value in the interval  $\left[0, \frac{1}{2}\right)$ .

**Theorem 4.1** — *If  $\beta = 2$ , then the origin is asymptotically stable and attracts every trajectory of eq. (1) with initial values in the interval  $\left[0, \frac{1}{2}\right)$ .*

PROOF : Note that

$$x_{n+1} = \frac{2}{1+x_{n-k}} x_n^2 \leq 2x_n^2 \leq 2^3 x_{n-1}^2.$$

This pattern continues; by induction

$$x_{n+1} \leq \frac{1}{2} (2x_0)^{2^{n+1}}$$

Therefore, if the initial values (in particular,  $x_0$ ) are in  $\left[0, \frac{1}{2}\right)$ , then the solution they generate must converge to zero. Stability is an immediate consequence of the monotonically decreasing nature of the sequence  $\left\{(2x_0)^{2^{n+1}}\right\}$ . The proof is complete.

For the equilibrium point  $\bar{x}_2 = 1$ , we have the following result.

**Theorem 4.2** — *If  $\beta = 2$ , then  $\bar{x}_2 = 1$  is an unstable fixed point; in fact, in every neighborhood of  $\bar{x}_2$  there are initial value generating solutions that converge monotonically to zero.*

PROOF : Let  $x_0 \in (0, 1)$  and  $x_{-k}, \dots, x_{-1} \geq x_0$ . Then

$$x_1 = \frac{2x_0^2}{1+x_{-k}^2} \leq \frac{2}{1+x_0^2} x_0^2 = 2 \frac{x_0}{1+x_0} x_0 < x_0.$$

Therefore,  $x_1 < x_0 < 1$  and  $x_{-k+1}, \dots, x_0 \geq x_1$ . It follows by induction that the sequence  $\{x_n\}$  is monotonically decreasing in the interval  $(0, 1)$  so that it must converge to zero. Since  $x_{-k}, \dots, x_{-1}, x_0$  may be chosen arbitrarily close to  $\bar{x}_2 = 1$ , this also proves that  $\bar{x}_2 = 1$  is unstable. The proof is complete.

**Theorem 4.3** — Assume that  $\beta = 2$  and that (3) holds, then eq. (1) has a solution which is strictly increasing to  $\bar{x}_2 = 1$ .

The proof is similar to that of Theorem 5.3 in Section 5 and will be omitted.

**Theorem 4.4** — If  $\beta = 2$ , then eq. (1) has no solution which is strictly decreasing and converges to  $\bar{x}_2 = 1$ .

PROOF : Assume, for the sake of contradiction, that eq. (1) has a solution which is strictly decreasing and converges to  $\bar{x}_2 = 1$ . Then there exists an  $n_0 > 0$  such that  $\bar{x}_2 = 1 < x_{n+1} < x_n$  for  $n \geq n_0$  and  $\lim_{n \rightarrow \infty} x_n = 1 = \bar{x}_2$ .

Let  $y_n = x_{n+k}/x_n$  for  $n \geq n_0$ . Then  $0 < y_n < 1$  for  $n \geq 0$ . By eq. (1) we have

$$\begin{aligned} y_{n+1} &= \frac{x_{n+k+1}}{x_{n+1}} = \frac{2x_{n+k}^2}{x_{n+1}(1+x_n^2)} \\ &\leq \frac{2x_{n+1}x_{n+k}}{x_{n+1}(1+x_n^2)} = y_n \frac{2x_n}{1+x_n^2} < y_n, \end{aligned}$$

and so  $\lim_{n \rightarrow \infty} y_n = \lim_{n \rightarrow \infty} \frac{x_{n+k}}{x_n} = 1$ .

Hence,  $y_n = 1$  for  $n \geq n_0$ , which implies that  $x_{n+k} = x_n$  for  $n \geq n_0$ . This is a contradiction and completes the proof.

### 5. THE CASE $\beta > 2$

In this section we will consider eq. (1) for  $\beta > 2$

**Theorem 5.1** — If  $\beta > 2$ , then the origin is asymptotically stable and attracts every trajectory of eq. (1) with initial values in the interval  $\left[0, \frac{1}{\beta}\right)$ .

**Theorem 5.2** —  $\beta > 2$ , then  $\bar{x}_2 = (\beta - \sqrt{\beta^2 - 4})/2$  is an unstable fixed point; in fact, every neighborhood of  $\bar{x}_2$  there are initial value generating solutions that converge monotonically to zero.

The proofs of Theorem 5.1 and 5.2 are similar to those of Theorem 4.1 and 4.2, we omit them here.

**Theorem 5.3** — Assume that  $\beta > 2$  and that (3) holds. Then eq. (1) has a solution  $\{x_n\}$  which is strictly increasing to  $\bar{x}_2$ .

PROOF : Assume, for the sake of contradiction, that eq. (1) has no solution which is strictly increasing and converges to  $\bar{x}_2$ . Then we can easily see that for each solution  $\{x_n\}$  of eq. (1) with

$$0 < x_{-k} < \dots < x_0 < \bar{x}_2,$$

there exists a positive integer  $N$  (which depends on the solution), such that

$$x_{-k} < \dots < x_0 < \dots \leq x_N \text{ and } x_j > x_{j+1} \text{ for } j \geq N.$$

Furthermore  $x_N \neq \bar{x}_2$ , for otherwise

$$\bar{x}_2 > x_{N+1} = \frac{\beta x_N^2}{1 + x_{N-k}^2} \geq \frac{\beta \bar{x}_2^2}{1 + \bar{x}_2^2} = \bar{x}_2,$$

which is a contradiction.

Now for  $x \in [1/\beta, \sqrt{\bar{x}_2/\beta}]$ , define the sequence of continuous functions

$$f_{-k}(x) = \dots = f_{-1}(x) = x, \quad f_0(x) = \beta x^2,$$

and 
$$f_{n+1}(x) = \frac{\beta f_n^2(x)}{1 + f_{n-k}^2(x)}, \quad n = 0, 1, \dots$$

For each  $x \in [1/\beta, \sqrt{\bar{x}_2/\beta}]$ , the sequence of positive numbers  $\{f_n(x)\}$  is a solution of eq. (1) and by Lemma 2.4 this sequence is bounded. Let

$$s(x) = \sup_n f_n(x)$$

In view of the hypothesis that eq. (1) has no solution which is strictly increasing and converges to  $\bar{x}_2$ , it follows that for every  $x \in [1/\beta, \sqrt{\bar{x}_2/\beta}]$ , there exists an integer  $N$  (which depends on  $x$ ) such that

$$s(x) = f_n(x), \quad f_N(x) > f_{N+1}(x), \text{ and } f_n(x) \leq f_N(x) \text{ for } n = -k, \dots, N-1.$$

We will now prove that the function  $s(x)$  is continuous for all  $x \in [1/\beta, \sqrt{\bar{x}_2/\beta}]$ .

To this end let  $x \in [1/\beta, \sqrt{\bar{x}_2/\beta}]$ , and let

$$0 < \varepsilon < \frac{f_N(x) - f_{N+1}(x)}{2}.$$

From the continuity of  $f_0, \dots, f_{N+1}$ , there exists  $\delta > 0$  such that

$$|x' - x| < \delta \text{ implies } \sup_{0 \leq m \leq N+1} |f_m(x') - f_m(x)| < \varepsilon.$$

Note that

$$f_{N+1}(x') < f_{N+1}(x) + \varepsilon < f_N(x) - \varepsilon < f_N(x')$$

and so  $s(x') = f_m(x')$  for some  $m \leq N$ .

Therefore

$$s(x) - \varepsilon = f_N(x) - \varepsilon < f_N(x') \leq \sup_{0 \leq m \leq N} f_m(x') = s(x')$$

and  $s(x') = \sup_{0 \leq m \leq N} f_m(x') < \sup_{0 \leq m \leq N} [f_m(x) + \varepsilon] = s(x) + \varepsilon$ ,

so  $|s(x') - s(x)| < \varepsilon$

which establishes our claim that  $s(x)$  is continuous on  $[1/\beta, \sqrt{\bar{x}_2/\beta}]$ .

Since  $f_{-k}\left(\frac{1}{\beta}\right) = \dots = f_{-1}\left(\frac{1}{\beta}\right) = \frac{1}{\beta}$ ,  $f_0\left(\frac{1}{\beta}\right) = \beta \cdot \frac{1}{\beta^2} = \frac{1}{\beta}$ ,

and  $f_1\left(\frac{1}{\beta}\right) = \frac{\beta \cdot \frac{1}{\beta^2}}{1 + \frac{1}{\beta^2}} = \frac{\frac{1}{\beta}}{1 + \frac{1}{\beta^2}} < \frac{1}{\beta}$ .

By induction, we have

$$f_n\left(\frac{1}{\beta}\right) < \frac{1}{\beta} \text{ for } n > 0.$$

So  $s\left(\frac{1}{\beta}\right) = \frac{1}{\beta}$ .

Also since

$$f_{-k}\left(\sqrt{\frac{\bar{x}_2}{\beta}}\right) = \dots = f_{-1}\left(\sqrt{\frac{\bar{x}_2}{\beta}}\right) = \sqrt{\frac{\bar{x}_2}{\beta}}, f_0\left(\sqrt{\frac{\bar{x}_2}{\beta}}\right) = \beta \cdot \frac{\bar{x}_2}{\beta} = \bar{x}_2,$$

and  $f_1\left(\sqrt{\frac{\bar{x}_2}{\beta}}\right) = \frac{\beta \bar{x}_2^2}{1 + \frac{\bar{x}_2}{\beta}} > \frac{\beta \bar{x}_2^2}{1 + \bar{x}_2} = \bar{x}_2$ .

So, we have

$$s\left(\sqrt{\frac{\bar{x}_2}{\beta}}\right) > \bar{x}_2.$$

By the continuity of  $s$ , there exists an  $x^* \in (1/\beta, \sqrt{\bar{x}_2/\beta})$  such that

$$s(x^*) = \bar{x}_2.$$

Hence by the hypothesis that eq. (1) has no solution which is strictly increasing to  $\bar{x}_2$ , then there exists an  $N$ , such that

$$f_N(x^*) = \bar{x}_2, f_{N+1}(x^*) < \bar{x}_2 \text{ and } f_n(x^*) \leq \bar{x}_2 \text{ for } n = -k, \dots, N-1.$$

But then

$$\bar{x}_2 > f_{N+1}(x^*) = \frac{\beta f_N^2(x^*)}{1 + f_{N-k}^2(x^*)} \geq \frac{\beta \bar{x}_2^2}{1 + \bar{x}_2} = \bar{x}_2$$

which is a contradiction. The proof is complete.

*Remark 1* : Theorem 5.3 extends Theorem 3.1 of<sup>3</sup> for  $k = 1$ .

**Theorem 5.4** — Assume that  $\beta > 2$  and that (3) holds. Then there exists a solution  $\{x_n\}$  of eq. (1) such that

$$x_{n-1} > \bar{x}_2 \text{ for } n = 0, 1, \dots$$

PROOF : Assume for the sake of contradiction, that eq. (1) has no solution which is above  $\bar{x}_2$ .

For  $x \in (\bar{x}_2, \infty)$ , define the sequence of continuous functions

$$f_{-k}(x) = \dots = f_{-1}(x) = x, f_0(x) = x^2$$

and 
$$f_{n+1}(x) = \frac{\beta f_n^2(x)}{1 + f_{n-k}^2(x)}, n = 0, 1, \dots$$

For each  $x \in (\bar{x}_2, \infty)$ , the sequence of positive numbers  $\{f_n(x)\}$  is a solution of eq. (1) and by Lemma 2.4 this sequence is bounded.

Let 
$$s(x) = \sup_n f_n(x)$$

In view of the hypothesis that eq. (1) has no solution which is above  $\bar{x}_2$ , it follows that for every  $x \in (\bar{x}_2, \infty)$ , there exist two integers  $N$  and  $m$  (which depend on  $x$ ), with  $N \geq -k$  and  $m \geq N$ , such that

$$s(x) = \sup_{n \leq N} f_n(x),$$

$$f_n(x) > f_{n+1}(x) \text{ for } n \geq N,$$

and 
$$f_m(x) < \bar{x}_2,$$

Choose 
$$0 < \varepsilon < \min_{N \leq n \leq m} \left\{ \frac{f_n(x) - f_{n+1}(x)}{2}, \bar{x}_2 - f_m(x) \right\}$$



By the continuity of  $f_{-k}, \dots, f_{-1}, f_0, \dots, f_m$ , there exists  $\delta > 0$  such that

$$|x - x'| < \delta \text{ implies } \sup_{n \leq m} |f_n(x) - f_n(x')| < \varepsilon.$$

Note that

$$f_n(x') > f_n(x) - \varepsilon > f_{n+1}(x) + \varepsilon > f_{n+1}(x') \text{ for } n = N, \dots, m.$$

and  $f_m(x') < f_m(x) + \varepsilon < \bar{x}_2$

and so  $s(x') = \sup_{n \leq N} f_n(x')$ .

Therefore,  $s(x) - \varepsilon = \sup_{n \leq N} f_n(x) - \varepsilon$ ,

$$< \sup_{n \leq N} f_n(x') = s(x') < \sup_{n \leq N} f_n(x) + \varepsilon = s(x) + \varepsilon$$

and so  $|s(x') - s(x)| < \varepsilon$

which shows that the function  $s$  is continuous on  $(\bar{x}_2, \infty)$ .

$$\text{As } s(\sqrt{\bar{x}_3}) > \bar{x}_3 \text{ and } s(\sqrt{\bar{x}_2}) = \sqrt{\bar{x}_2} < \bar{x}_3,$$

it follows that there exists an  $x^* \in (\sqrt{\bar{x}_2}, \sqrt{\bar{x}_3})$  such that

$$s(x^*) = \bar{x}_3.$$

Hence, there exists an  $N$  such that

$$\bar{x}_3 = s(x^*) = \sup_{n \leq N} f_n(x^*).$$

Also note that

$$f_0(x^*) = (x^*)^2 < \bar{x}_3, f_{-i}(x^*) < \bar{x}_3 \text{ for } i = 1, \dots, k, \text{ and so we can assume that}$$

$$\bar{x}_3 = s(x^*) = f_m(x^*) \text{ for some } 1 \leq m \leq N,$$

and  $f_{m+1}(x^*) < \bar{x}_3, f_{m-k}(x^*) < \bar{x}_3.$

But then  $\bar{x}_3 > f_{m+1}(x^*) = \frac{\beta \bar{x}_3^2}{1 + f_{m-k}(x^*)} > \frac{\beta \bar{x}_3^2}{1 + \bar{x}_3} = \bar{x}_3,$

which is a contradiction. The proof is complete.

**Theorem 5.5** — *If  $\beta < 2$ , then eq. (1) has no solution which is decreasing and converges to  $\bar{x}_3$ .*

PROOF : Assume, for the sake of contradiction, that eq. (1) has a solution which is decreasing and converges to  $\bar{x}_3$ . Then there exists an  $n_0 > 0$  such that  $\bar{x}_3 < x_{n+1} < x_n$  for  $n \geq n_0$  and  $\lim_{n \rightarrow \infty} x_n = \bar{x}_3$ .

Let  $y_n = x_{n+k}/x_n$  for  $n \geq n_0$ , then  $0 < y_n < 1$  for  $n \geq n_0$ . By eq. (1), we obtain,

$$\begin{aligned} y_{n+1} &= \frac{x_{n+k+1}}{x_{n+1}} = \frac{1}{x_{n+1}} \frac{\beta x_{n+k}^2}{1+x_n^2} \\ &\leq \frac{\beta x_{n+1} x_{n+k}}{x_{n+1} (1+x_n^2)} = y_n \frac{\beta x_n}{1+x_n^2} \\ &< y_n, \end{aligned}$$

and 
$$\lim_{n \rightarrow \infty} y_n = \lim_{n \rightarrow \infty} \frac{x_{n+k}}{x_n} = 1.$$

Hence,  $y_n = 1$  for  $n \geq n_0$ , which implies that  $x_{n+k} = x_n$  for  $n \geq n_0$ . This is a contradiction and completes the proof.

**Theorem 5.6** — *If  $\beta > 2$ , then eq. (1) has no solution which is increasing and converges to  $\bar{x}_3$ .*

PROOF : Assume, for the sake of contradiction, that eq. (1) has a solution which is increasing and converges to  $\bar{x}_3$ . Then there exists an  $n_0 > 0$  such that  $1 < x_n < x_{n+1} < \bar{x}_3$  for  $n \geq n_0$  and  $\lim_{n \rightarrow \infty} x_n = \bar{x}_3$ .

Let  $y_n = x_n/x_{n+k}$  for  $n \geq n_0$ . Then  $0 < y_n < 1$  for  $n \geq n_0$ . By eq. (1), we have

$$\begin{aligned} y_{n+1} &= \frac{x_{n+1}}{x_{n+k+1}} = \frac{x_{n+1} (1+x_n^2)}{\beta x_{n+k}^2} \\ &\leq \frac{x_{n+1} (1+x_n^2)}{\beta x_{n+1} x_{n+k}} = y_n \frac{1+x_n^2}{\beta x_n} y_n, \end{aligned}$$

and 
$$\lim_{n \rightarrow \infty} y_n = \lim_{n \rightarrow \infty} \frac{x_n}{x_{n+k}} = 1.$$

Hence  $y_n = 1$  for  $n \geq n_0$  which implies that  $x_{n+k} = x_n$  for  $n \geq n_0$ . This is a contradiction and the proof is complete.

#### REFERENCES

1. R. P. Agarwal, *Difference equations and inequalities*, Marcel Dekker, New York, 1992.

2. V. L. Kocic and G. Ladas, *Global Asymptotic Behavior of Nonlinear Difference Equations of Higher Order with Applications*, Kluwer Academic, Dordrecht, 1993.
3. E. Camouzis, G. Ladas, I. W. Rodrigues and S. Northshield, *Computers Math. Applic.*, **28** (1994), 37-43.
4. D. C. Zhang, B. Shi, J. C. Zhai and M. J. Gai, *Indian J. pure appl. math.*, in press.
5. L. T. Li, *Computers Math. Applic.*, **38** (1999), 29-35.
6. E. Camouzis, E. A. Grove, G. Ladas and V. L. Kocic, *J. Difference Equations and Applications*, **1** (1995), 17-44.
7. L. T. Li, Q. Qiu and Z. Yu, *J. Difference Equations and Applications*, **2** (1996), 333-38.